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00000000000 D(ze, pi) 00z, 0 p;, 00000000OO0ODOOODO
oooooooogoooooooxy DD 00000000 220 40
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000000000000000000000000000* 2 000000
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00000000000 p; (i=0,1,2,...,900000000 x (k =
1,2,3,4)000 1.1000000000000 1000000000000000
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0000000000000000000 (22)0000000000000
000w, 0000000 ¢(x) 0000000000 p; =(4,16) 000
1
5||p1||2:(42+162)/2:136 (S.2.1)
00000

g1 (iE) = —136 + 4z + 1625 (822)

0000000000000 gy (2)0gs(z) O

gg(iE) = -90+ 12x1 + 62> (823)
g3(x) = —234 4 1221 + 18z,

goog

0 (2)

00000 gi2(z) =00 ¢13(x) =00 ge3(x) =00 300000g;5(x) 00
9ij(x) = gi(x) — ¢;(x) D0DO00D000D000000000 wy0w, 0000
00000 (S2.2)0(S.23) 0000

gi2(z) = g1(z) — g2(x) (S.2.5)
= —46 — 8z + 1022 =0

000000o0000oo gj(x) 000000000ODO0OOOOODODOO
(S.26)000000000DULODOODOODOO (S26)0D000200000
ooooogoooo

912(:1:) =-23—4x1 + 52, =0 (827)
ooooooooooo

glg(m) =49 — 41‘1 — T2 = 0 (828)
923((E) =12 — Ty = 0 (829)
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gobooboogono

T € wy ogoooao g12(m) < 0, 923(1') >0 (8212)
rcwsOooaoo glg(il!) <0, ggg(il!) <0 (8213)

0000oo00ooo0O000 S220000000000000000000
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0 (3)
0 (S.2.2)D (824) ooooon
g4(il?) = —10 + 2z + 4x- (S214)
oooooon
0 (4)

(
0 (S.27)0(S.2.9) 000000

914(1‘) =—63+x1+62,=0 (5215)
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0S.23: 6000000
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00000000000000000
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iEEquDDDDDDng(w)>O,
iEEuJQDDDDDDglg(w)<O,
$GW3DDDDDDQ13($)<O,
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gi13(z
g23(T
g23(x
g24(x
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) <
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000000000 4000000 S.2400000000000 S.22000
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0 4 8 12 16 20 ‘/“EI

0S.24:00000400000000

00000000000000 gyu(e)=0000000000000000
gsa() =00000 ws0 w, 0000000000000000000OO
(S2.18) 0 ws 0000000 D gay(r) > 00000 w, 00000000
gs4(x) <0O000D0D0D000S2200008240000000000 250
0100000000000000000

0 (5)

0000z =(2,9'00000

gi(x1) =16, go(x1) = =12, g3(x1) = —48, ga(x1) =30 (S.2.19)
000000argmax {g;(x)} =4 0000z €w, 000000000000
0@ = (21100000

g1 (mz) = 48, gg(wg) = 0, gg(mz) = —12, g4(m2) =38 (8220)
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o0z, 000 z,000000000000000 w4yDw; 0000000
cooboooooboooooooooooooobooboooo

ooooo 2.200

0 (1)

ooooboooooooo 230 020000000000000000O
00 S.210000000000000000 210000000

0 S.21: 00000000000O000000OD

AL ‘; A EBHAIIN iy £ O FLLEH
HMHEE Toplx,las |wylw,|w, / Ex|wy|lw;|w,;
1|z, |w 1 11 8 | -54| 13 | -15| -31 X =53 | 24 | -7
2 |z, |wy| 1 | 10| 10|-53| 24| -7 | 117 | O
: 3|z |w| 1 6 3 |-53| 24| -2 70| O
4 |z, W 1 6 5 |-53| 24 | -7 56 X -54 1 18 | -12
5 |zs|lwy 1| 2| 8 |-54] 18 |-12|-114| O
6 |T,|wy 1 1 2 |-54| 18 | -12| -60 O
7|z, |w| 1 11 8 |-54| 18 | -12| 48 O
o | 8 ]z2|wi| v | 10| 10|54 18 |-12 6 O
9 |z |w | 1 6 | 3 |-54| 18 |-12] 18 | O
10(z/|w,| 1| 6| 5 |-54|18[-12] -6 [ O

0000000 6000000000060 000000D 100000000
000000000000 100000 w0000 ;000 g(xy)=-31<0
0000000000000000 (225000000 wO

!
W =W-—p X

= (=54, 13, —=15) +1- (1, 11, ,8)
= (=53, 24, -7)

(S.2.21)
(S.2.22)
(S.2.23)
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000000 wOooooooooooo 2,3000000000000000
ooooooobooooogo

0000400000000 w0000 24000 g(xy) =56>00000
000000000 (226)0000000000O0OOO0ODODOO

w=w+p-x (S.2.24)
= (=53,24, -7)—1-(1, 6, ,5) (S.2.25)
= (—54, 18, —12) (S.2.26)

000000®s, @6, 1, T2, T3, z, 0 600000000000000000
000000000000000000000200000000000000
1000000%000000000000

(U)(], w1, U)2) = (—54, 18, —12) (8227)
gooo
0 (2)
gooogo

(wo, w, wy) = (—54, 13, —15) (S.2.28)

cooooooooooo
g(x) = =54+ 13z — 152, =0 (S.2.29)

00000 S.2500000000000D0DDOO0OD wyOOOOOOO
obbiddw ddobbogobbooobboooobooobbooo
goboobooobobobbooboooba

0 (3)
gobooobooboobbobobooboobboooba

g(x) = =54+ 18z — 122, =0 (5.2.30)

* 000000000000000 ®5,x¢ 000000000000 11,120000000
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0 S.26: 000000000000000OO

000000000000000000000000
(m; —my)' (z — (m; + m,)/2) =0 (S.2.31)

00000000 @,...,2s 0000000m;0my O
m; = (5,2)", my=(2,4)" (S.2.32)

0000000000000 *U0oOUoO0ooUoDD (S231)0b0oUooo
000000x(zy,z0) O

61 — dzs —9 =0 (S.2.33)

gobooboobobuoobooboooboobboobbooboon

0 (3)
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O00Oo
000O0o0 3.100
0000000000000000000000000000000000
0000 (00 14000 A100000000
00000000%,(p=1,...,n) 00000000000 w; (i=1,...,c)
00000 (d+1)00000000000000000000

Xp = (Tpo, Tp1y -« Tpa)" (000 zp=1) (5.3.1)
gooooooooooooono (2.14)|:|D
wi = (Wio, Wit, . . ., Wia)" (5.3.2)

000000000x, 0000 ,; (j=0,1,...,d)000000000 (3.10)
00000000 J(wy,ws,...,w.)00000 (3.15) 00000 nx (d+1)
0000000 X0O000O00000

1 n c
J(Wi,Wa, ..., W) = EZZ(WEXP —bip)? (5.3.3)

p=1 i=1

X = (x1,%X2,...,%p)" (5.3.4)

000 w; 000000 (S.3.3) 0 J(wi, Wa,...,we) 0 w; 000 wiy, D00
0oo

aj = Z (WitXp — bzp) mpk (835)

6wik —
p=1

oo0o000000o0o0o00 w; 000w, O0OD0DDO20000000 hye OO
ood

92J
by = Socdur (S.3.6)
=> app-apy (k1=0,1,...,d) (S.3.7)
p=1

0000000 H=(hy) 00000000000000 HOO(K)OOO
hy 000 (d+1)x(d+1) 000000000 HO J(wy,wa,...,w,) 000
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000 (Hessian) 00000 (S.3.7)00000(d+1)x (d+1)000 X'X
0 (k)0000000000000000000000000

H = X'X (S.3.8)

0000y#000000 (d+1)0000000 yOOOOy'HyOoOOO
0000 (S.3.8)00
y'Hy = y'X'Xy
= (Xy)'Xy
= || Xy||* >0 (S.3.9)

ooo0ooUoooooU0 w; (@ =1,...,c0 00000000000
00000 HOOOO (positive definite) 0 0000000 O0OOD0OOOO
J(wy,Wa,...,w.) 000000 (strictly convex function) 000 O
oooooooog J(wy,we,...,w.) 00000000000 O00O (con-
vex programming problem) 0000 J(wy,wse,...,w.) 0000000000

3

000 (3.2000000000000000000O0O0OOODOOODOODOO

00000 3.200

00000000 20000000000 (340)0000000000 wO
000000000000000000000 (3.200000000000000
0w,0w, 000000000 (3.15 0000 (3.16)0000000000

105
} ; (1) 6 16 16
X = XX = 16 70 29 (S.3.10)
162 16 29 70
1 2 6
12 2
b, = (1,1,1,0,0,0)" (S.3.11)
b, = (0,0,0,1,1,1)" (S.3.12)

googoooo

1.207 -0.195 —0.195
(X'X)"' =1 -0.195 0.049 0.024 (S.3.13)
—0.195  0.024  0.049
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googo

(X'X) X!
0232 0817 0232 —0.354 —0354 0.427

= -0.073 -0.122 0.049 0.146 0.049 -0.049 (5.3.14)
0.049 -0.122 -0.073  0.049 0.146 —-0.049

00000000ooooooo (3.20000

wi = (X!X)"'X'by = ( 1.281, —0.146, —0.146)!

wo = (X'X)"'X'by = ( —0281, 0.146, 0.146)" (8:3.15)
000000000000000000
gi(z) =wix= 1281 —0.146z; — 0.146 > (S.3.16)
ga(x) = whx = —0.281 + 0.146 71 + 0.146 25 (S.3.17)
00000000000
g12(z) = g1(x) — g2(x) (S.3.18)
=1.562 — 0.29221 — 0.29225 = 0 (S.3.19)
o0oo0o0oo0oo
o+ To = 5.35 (S.3.20)

ocoooooooo sl ooooooooooooooooooobooooo
ocooboeOOOOOOOOOOOOODOOODOOOCOOOOOO 20000
Oo0o0oooo0oDbOooooDbo0bO0b0oooDU0b0OD0bU0nDnd we
bbb e 0000w DODDOOOOOOOOOODO

00000 3.300

0000000000D0020000000000 (340)000000000
wODDO0O0ODDODOO0O0ODO000D00000000000000000 XO
0 (343)0000000(X!X)"'X!00 (345000000000 b0O

b= (b1: b2: R bn)t
=(1,1,1, -1, -1, —1)! (S.3.21)
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DooOooooOon
w = (wp, wy) = (X'X)"'X'b
= (0.281, 0.938)" (S.3.22)

ogoooooooooboooood z0O
© = —wo/w; = —0.281/0.938 = —0.300 (S.3.23)

000000000000000 (349)00000000000000000
0000000000000000

0000 (3.37) 0000000 J(w)O0D S.3.100000 3.20000J(w)
000000000000000000 (w, we) = (0.938,0.281) 00000
oooooooo.

0 S.3.1: 0000000000000 00O0DOO00ODOO00

gbobooboooooooobooooO0obobooOoOobooobOboOoboOo wd
0000 (wy, we) =(5,11) 0000000000 0OO0ODOODODOLDODOO
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goboobooobobuoobooboooboobbobbuoobooobooo
000000ooooooooooooU000d0 woooo S3.100000
00000O0o0o0ooUo Jw)OOOoOOOOO S.3.200000

300
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oooo Jw)

ogoogo 1
goooogo
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o
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gooooo

0 S.3.2:.000000000000000O0DOO00ODOO0OO0DODOOOO

0000000000 J(w)00ODODOD0O0DO0D wOOOOO 200000000
coboboboooooooooocooooOobobooOoOoooOooOooOoboOoOooboa
cooboboooooooooooboooOoboOooOoOooooooOoboOoooDooo
oooooooooooooboboooo

ooooo 3.400

000 230 01000000000000D0000O w = (wy,wy,...,wg) 00
(d+1)000000000 1000000000000 DWOOOOD OOO
gobgooobooboobbooboobuooboobbooobowpnboo
gobooobooboobbooboobuoobboobbooxbgoboo
goooo

o000 20000000000000000O0 S.3300000OOOO
OxzO0O000000D000000D0DD0O0g(z)=wix=0000000000
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O00O00D0oO0oo0o0oD  o0000xO000000O0DO0O0O0DO0OO0OOO0OOOOO0
00000000 wOOOO wix=000000O

Wy

0S8.3.3: 00000000000DO00O0OOO

gooobooooogoobobobbood wobbboooooooobo
gooobboooob w, obbbooobobo rdow, 000000 wOOO
gobooboooooooooboobowbhoboobooo xoogo

X
W=W,Etr — S.3.24
I (5:3.24)

oooooooob0 £0000D0b000O0wO xOgOoooboooo +

oooooboboooooo —-0obo0obobooooobOooooOw, 00O0DbOO0O0
cooooooooboooo

wix=0 (S.3.25)

0(S.3.24)00000000 x0000000OO (S.3.2500000

t
¢ XX

wix=wix+r —— (S5.3.26)

x|
=+ ||x|| (5.3.27)
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gobooooooo
|w'x| =r||x]| (5.3.28)

cooooooon

(S.3.29)

oooood
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OO00o
00000 4.100
0 (4.21)000000

0 "9
2 logp(X:0) =S = | -9) = 4.1
20 ogp(X;0) 2 50 ogp(xy;0) =0 (S.4.1)

00000000000 «, 00000000 mO0000O00O0O ¥X000000
00000000 (4.8)00
p(x;0) = p(xg; m, )

W exp {—%(mk - m)tzfl(mk — m)} (5.4.2)

gbooooooooooboboboooog
logp(xkumaz)
d 1 1 -
0= —§log(27r) - §log\2\ - E(wk —m)'Y " (z, —m) (S5.4.3)

oooo

D00mO00000000000 X0000000000 270000
00000000000000 mO000000000 A.200 (A25)00

0 -
m logp(xy; m, 2) = 7 (z, — m) (5.4.4)
0000000000 (S4.1) 00000000 X0000D0D0O0O0OO

n

> (@i —m)=0 (S.4.5)

k=1
000000000 mOO0OOO0 mO

1
m= ;mk (5.4.6)

00000 (422)0000000
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00 X000000000 A.200 (A2.12)00
=7 =3 (S.4.7)
0000000 (A2.11)00
(xr —m)'E " (zp —m) = tr (' (zr — m)(z, —m)")  (S5.4.8)
0000ooooo (s43)000000 >-'000o0o0o0o0o0o0o00000
logp(xy; m, X)
d 1 _ 1 _
:—ilog(27r)+§log|2 " - tr (=" (zx — m)(z —m)") (S.4.9)
00000000000 x000000000000000 2 'o0oooo

00000000000 (S4.9) 0 2100000000 (A2.10)00 (A.2.7)
gooo
9 logp(zr; m,X) = 12 - 1(:zzk —m)(z, —m)"  (S.4.10)
0¥-1 2 2
000ooooo (S4.1)000o0oo

n

> (B - (xx —m)(zr —m)") =0 (S.4.11)

k=1
DI:II:IDI:IDI:II:IDI:I(S.4.6)|:IDI:I2I:IDI:II:IZA]|:I
L1 &
Y =- -n —m)! S.4.12
2 2 (m ) (e — 1) (3:4.12)

00000 (4230000000

ooooo 4.20
000000 wOOOODODOO (444) 0000000000

8.7 (ka2 + ko) )
= _f, . it k) =1,2 41
9572 K (k162 + kp62)? (i=12) (S:4.13)
000000 (4.42) 00
k1 ks
5= ——— —
ki1 + ko
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00000000000o0O (44) 000000 wO

w=a- (k121 + k222)’1(m1 — mg) (8414)

gobodbbdedboobboobog
bobdwoOooooo

;ﬁi - kﬁ?ﬁ%&% (i=1,2) (S.4.15)
00 (4.39)00000
ki + kating = 0 (S.4.16)
00000 (4.30)00
m; = w'm; + wp (i=1,2) (S.4.17)
0000000 (S.4.16) 00
w' (kymy + komy) + (ky + k2)wg = 0 (5.4.18)

0000000000000 00o0O0o00oDO (S414)0wOOODDODDOODO
OO0O0000000 weO

wt(klml + kgmg)

Wy = —

ki + ko
kym! + kom!
_ e 2:“2)“’ (8.4.19)
— . (klmﬁ + kaé)(k:lEl + k222)*1(m1 — m2) (8420)

ki1 + ko

00000000eD0O0O (S4.14)0 ¢« 0D0D0DO0ODOOOO

O

ooooo 4.3*0
0400000000000000000000O00ODO0OO0OOODOO0O JO

goboooboooboboobooboooboobbobbooboooboo

0o0ooooo -JoOoUoOoooooUooUooopoooOoooooooooo

430 01000000OOOO0O0ODOOOOODOO
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00000000000000000 Jo(w) % (2/n)J(w)000000

Jo(w) € (2/n)J(w) (S.4.21)
= L3 (gly) by’
= E{(g(zp) — b)*}
= E{g(z,)*} - 2E {b,g(x,)} + const (S.4.22)

00000000const 0 wOOOOOOODODOOOOO (4.29) 00

= B {o(@)} (i=1,2) (5.4.23)

00000 (4.31)0(S.4.23) 00

G} = mféw,-{(g(wp) —1ni)?} (S.4.24)
= mp%wi{g(wp)Q} — 2m; :BpEegu,-{g(wp)} + m?
= mpEéwi{g(mp)Q —1m? (i=1,2) (S.4.25)

00000 (S.4.25) 0000 (S4.22) 0000 100
E{g(z,)*} = P(w1) xpEe]wl{g(mp)Q} + P(w») waE]wz{g(mp)2} (5.4.26)
= P(w1) - (67 + m}) + P(w2) - (65 + m3) (S.4.27)

00000 (S4.23)00000000b,0000 (3.35)0000 (S.4.22)00
00200

E{bug(@,)} = P1) \E_{9(2,)} + Plw) B {~g(,)} (S:4.28)
= P(wl)ml - P(u)g)mg (8429)
000000 (S.4.27)0(S.4.29) 00 (S.4.22) 0000

Jo(w) = (2/n)J (w)
= P(w1) - (67 + m7) + P(wa) - (65 + m3)
—2(P(wy)my — P(ws)msz) + const (5.4.30)
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00000000000 Jo(w) 0O miO0me067062000000000 430

olooooooooo

000000 wOOODOOOOD (442)000

0o
P(w1)

a P(wl) + P(WQ)

0Jy
957 = P(w1)
0Jy
@ = P(wsy)
= P(w1), 1—s=P(ws)

0000000 44)000000wODOO

w=a- (P(w1)21 + P(wg)zg)_l(ml — mg)

=a- zwil(ml — mg)

(S.4.31)

(S.4.32)

(S.4.33)

00000000000oD (6.113)00000000e000000OO0OO

oot wooogoono
0Jo
om;
0Jo
Omy

00 (4.39) 00000

2P(w1)m1 - 2P(w1)

2P(LU2)T77,2 + QP(WQ)
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